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1-All questions are compulsory o bt A Bnd {0 50 sd 6
2-The paper consists of 30 questions divided into four sections A, B,!C,/Dicl i 1 o0

3-Sectins A comprises of 6 questions of 1 marks.Section B comprises of 6 quesﬂons of 2 marks:
of 10 questions of 3 marks. Section D comprlsas of 8 questlons of 4 marks,.
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SECTION-A
1. Twn different dice are tossed together. Find thc pmbablhty 1hnt the product of the two
numbers on the top of the dice is 6.

2. lf the sum of the zeroes of the polynomial f(x) = 2x*- 3k + 4x - 5 is 6, then find the vaiue value of K
3. State Euclid’s division lemma

4, IfAABC-—APQR,BC ScmandQR 6cm,ﬁndtherahooftheareasofAABCandAPQR _
5. Rnd He wy 'gAd.-t of the c‘un:h'a:hr_ Q_‘M\N\ 'J_w( AN+2=0
6. Find the value of (sec

l) cot
SECTION

7. Using Euclid’s division algorithm, find the HCF of 2160 and 3520.

8. Find the zeroes of the quadratic polynomial 5%+ 12t + 7 and verify the relationship between the zeroes and the
coefficients.

9. Take A =60 and B = 30. Write the value of cosA , cosB and cos(A+B) . Is cos(A+B) = cosA+ cosB
10.Find the value of k if the points A(2, 3), B(4, k) and C(6, —3) are collinear.

Write down the decimal expansion of 76/6250 , without actual divistarly.
. If secA + tanA = m and secA — tanA = n, find the value of mn .

SECTION-C

13. Find all the zeroes of the polynomial x* -3x+6x- 4, If two of zeroes are V2 and -2
14. Solve 2x + 3y = 11 and 2x — 4y = — 24 and hencs find the value of ‘m’ for which y = mx + 3.
15. Prove that /S is an irrational number.
1[3 If (1, 2), (4, y). (x, 6) and (3, 5) are the vertices ol a parallelogram taken in order, find x and ¥ mil
(7) Find the roots of the equatnon 5x?~6x — 2 = 0, by method of competing the square,
1 2cosec AcolA

18. secA-1  secA# & . __
19. Find the relation between x and y if points (2, 1), (x, y) and (7, 5) are collinear. NS
20. ABC is a right triangle, right angied at A, and D is the mid-point of AB. Prove that BC? = CD? + 3BD%.

AQ CO
21.- ABCD isa trapezium in which AB | | DCand its diagonals intersect each other at the point O. Show BO DO
22. Solve for x:

1 -1+1+1.a-0,b¢01¢0
a+b+x a b x

SECTION-D

" 23, Prove that “The ratio of the areas of two similar triangles is equal to the square of the ratio of their
corresponding sides.”

1
24, The sum of the reciprocals of Rehman’s ages, (in years) 3 years ago and 5 years from now is 3 Find his
present age.

25 ABC is a triangle in which AB = AC and Dis any point in BC. Prove that : (AB)? - (AD)* = BD . CD.
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26." Nlﬂlﬂﬁ:tmdmembaofmpasmgﬂnmglammamadfmloomddsmhoﬁm
and summarised it in the table given below. Find the mode of the data:
AUSIT2AMABD A0oudag Woie (o2 Y. I0M
‘__w:? EEIEIRER IR Y :
ik WA TR
‘A nurnber is a two digit numbgmm‘ﬁ,ql

unxgngmﬂnn4matﬁem ufﬁedigﬂs.lfl&:saﬂedto
the number; the digits gets opposite. Represent geometrically - =

28. If the polynomial x* - 6x° + 15:1—25::1-mﬁdiwdedbyanoﬂ:erpolynomlalx’—2x+k,theramamdermmaout
tobe (x+a),findkand a. rigshqme s 98 eaateang DA

. 29. Abagwmmnsuckds,numbmédlﬁl 7124 13;...:4.30: Atwketlstalnen nmﬁ'omthebagatmdm ‘Find- -
7 the probability that the number on the drawn ticket

o) B pehdTE a4 .i: S }‘12—"1 £k "9;‘:"'““’_'1 JSJ"-"T-/
y (i) is a multiple of 7 (il)lsgmmﬂlaufsmd’ﬂmﬁlupleoﬁ a6 Ao AP *'J'G*I
- : . If A(-4, 8), B(-3, -4), C(0, -5) and D(5, 6) are the vertices of a qmdnhteralABCD ﬁhdl&area g - e
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